Pseudo code:
*  Program defines a two-dimensional array with 10 rows and 2 columns (empTable).
*  Program prompts the user to enter the current age and desired retirement age for 10 employees.
*  Program stores inputs for each employee in a different row of the array and validates the following set of conditions:
Where the current age (CurrAge) for each are set between 19 and 70 and the valid retirement ages (RetAge) are 62,
66, and 70.
*  Program also checks the inputs are entered correctly using a Boolean (bCheck is the variable).
»  If either number is not entered correctly (bCheck = false) based on the set conditions, it will prompt to list
employee data again until it gets out of the loop (bCheck = true).
*  Program calculates the number of years the employee has to work before they reach their desired retirement age by calling
out a method to compute the row of numbers entered (EmpRow) in this manner: totalEmpRetAge = empRow[1] — empRow/[0]
*  Program displays the results (fotalEmpRetAge) in the row.
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Enter the current age and desired retirement age for Employee # 1: 21 &2 [’_*I
Employee # 1 has to work 41 years before retirement.
Encter the current age and desired recirement age for Employee # 2: 1% 70
Employee # 2 has to work 51 years before retirement.
Enter the current age and desired retirement age for Employee # 3: 45 66
Fmployee # 3 has to work 18 years before retirement.
Enter the current age and desired retirement age for Employee # 4: 55 &2
Employee # 4 has to work 7 years before retirement. L\‘I
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